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undefined
> |

> =2

HEYIN) ~

19:05:30.724 console, logl"Hel o, warld!™):
19:05:30.726 undef ined
19:05:30,727 "Hello, worid!”

=
—— Qo A0 0! X

@) Javascript BE&0| B2LMH 220 TEE HETLILCH
console.log({"Hello, world!"™);

undefined
Hello, world!
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: HTML

Acd public_html
Amkdir ~/ public_html

Avi blah.html
A<script> , </script>
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Hello, world!

Aconsole.log( A o1 )
A console.log

console.warn > console.log("Hello, world!")
console.error Hello, world!
console.info undefined
X = 2+2
4
console.log("2+2= "+x)
242+ 4
undefined
console.log(42*123-x)
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a=12;

if(a>15){
b=10;

}else{
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}
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Aif (x>100 console.log(" 100 O");
Aif (x>100{console.log(" 100 O"):}
Aif (x>100{console.log(" 100 O")}
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else If

X = 10;

if(x<5@) console.log("5@ O|3t");

else if(x<100) console.log("100 0O|T");
else console.log("100 O|4&");

5o O]t

undefined

X = 60;

if(x<50) console.log("5@ O|2t");

else if(x<100) console.log("10e O[2t");
else console.log("100 O|&");

100 O]t

undefined

X = 14@;

if(x<5@) console.log("50 O|2t");

else if(x<100) console.log("1ee O|2t");
else console.log("100 O|4&");
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Aswitch( )
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Acase
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Abreak:

A switch

Adefault:

A case
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grade = A ;
switch(grade)q
case A': |
console.log("A");
case 'B': |
console.log("AL} B");
console.log("break");
break;
case 'C': case 'D':
console.log("CL} D");
break;
default:

console.log("- -");
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Aif (x>0) abs=x; else abs=x;
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Awhile ( x ){
X n \
} i=0;
while(1<5){
14+
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) }
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fwhile (- x);
Awhile -
A !
1=10;
do{
console.log("i="+1);
jwhile(1<5);
i=10
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Afor (A;  x ;B)

}

AWh”e for(i1=0;i<5;1i++){
AA: for console.log(i);

AB: }
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while ( x N 1
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AProjectEuler : +
A

Ahttp :// projecteuler.net/problem=_1
A1000 3 5
A ?

> sum = 0;
for(i=1; i<1000; i++){
if(i%3==0 || i%5==0) sum += i;
}

console.log(sum)
233168
undefined



http://projecteuler.net/problem=1

break

Abreak:
A

Acontinue:
A
Afor

continue

for(i=1;i<=100;1++){
1f(1*1>7@) break;
console.log("1="+1);
1f(1%2==0) continue;
console.log(i*1);
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break continue

Abreak continue

A [ .
A switch

Aouter loop: while 5 £ DA dz
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Abreak outer_loop;

for(var i=@,j;i<5;i++){ asdf: for(var 1=0,7;i<5;i++){
pu switch(i){ switch(i){
/l}\ case 3: break; case 3: break asdf;
. } h
, console.log(i); console.log(i);
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Aa=[1,2,34] > a=[1,4,1,5,9,2];
A C , - i=@;." }=—=23-=2 2 2
b = [true, "LOL, 42, [false, - 1]]; while(i<a.length){
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, _ _ : "HHAY Ab2l: "+a[i]);
A (1+1) a [1] 144;
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o={
hello:12,
'foo bar':34

}s

Object {hello: 12, foo bar: 34}
o.hello

12

o[ 'foo bar']

34

o[ 'asdf'] = 42;

42

o.asdf
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A
: a.length === a['length
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a = [1,2,3];
[1, 2, 3]
a[NaN] = 42
42

a.NaN

42

a[-1] = 15
15

al[-1]

15

a.hello = 'world’
"world"
a.hello
"world"
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) Ty i=27;

A (argument) function f(){

z& . if(i%2==0) i/=2;
i . . else i=3*i+1;

A . return . }
while(i!=1){

console.log(i);
A | 0N
. }

A . 27
A . o2

41
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AMath.random ()

0

42

1

ADate.now ()

1970
Aprompt()

1 1

. return

42;
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> i=1;

function foo(){
return 1*5+1;

ihile(i<5){
console.log(foo()*2);
i++;

}
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null undefined

Aundefined  null

Aundefined
return

Anull A Y

Aundefined == null undefined '== null
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